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gi=nferat & fera e - Instructions for the candidates :

]. GilMTd? OMR 3@7 WA® UT NG4T 1. Candidates must enter his / her
v Qfeqar F@iE (10 AF F0) Question Booklet Serial No.
Havy ford | : (10 Digits) in the OMR Answer

: Sheet.
2. WY FUEYE 39 yml 4 & 2. Candidates are required to give the:r
Kic A answers in their own words as 'ar

as practicable.

3. TR R e Wﬁﬂww 3. Figures in the nght hand margmn
fafee #vd & indicate full marks.

4. gl @ A Eﬁﬁf qt}':f # fao 15 minutes of extra time have been
15 firge @1 e @73 [ T 8 allotted for the candidates to read )

the uestions carefully.

¥
-—

5. ¢ 9¥9F §1 @vel & —@ug-3r0d 5. This question booklet is divided into
qUE-§/ two sections — Section-A and
Section-B.
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frat TeR & FeiagiTe JTE & 8.

pw?vgvfﬁmaﬁﬁh

In Section-A, there arée 100 objective
type questions, out of which any
50 questions are to be answered.
First 50 answers will be evaluated in
case more than 50 questions aré
answered. Each question carries
1 mark. Darken the circle with
blue / black ball pen against the
correct option on OMR Answer sheet
provided to you. Do not use
whitener / liguid / blade / nail
etc. on OMR-sheet, otherwise the
result will be invalid.

In Section-B, there are 30 short
answer type questions, ou' of
which any 15 questions are to be
answered. Each question cames
2 marks. Apart from these, there are
8 long answer type questions. ou:
of which any 4 questions are to be
answered. Each question

S marks.

cames

Use of any electronic appliances s
strictly prohibited.
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WU - ¥ / SECTION - A

Hﬁﬁﬂ_m / Objective Type Questions

W¥T WS4 1% 100 7% & Wy & @y ww fwew v 7v § frd @ vw wdt et

S05¥Al & IWT 397 g A MU @t frwew w oMR iz av Rafd W
50x1=50

Question Nos. 1 to 100 have Sfour options, out of which only one is correct. Answer any

50 questions. You have to mark your selected option on the OMR-Sheet. 50x1=350
1
1. —3TH

| V2
(A)  WThd dEAT (B) UREY dEA
(©y uRAg wE D) T | FE AR
. isa
V2
(A) Natural number : (B) Rational number

- (C)  Irrational number (D)  none of these

2. TR o a9 p FEE W p(x) = x2 +2x+3 F IS &, dl of F HHF F0
a3 | B) -2
(C) . (D) -3
If o @d B are the zeros of a quadratic polynomial p(x)= x2 +2x + 3, then the
value of aff will be
(A) 3 B) -2

© . 2 @) =3
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3. am412+5ﬁx-3 *Wm‘ﬁ%?

) -342,V2 B - 35.-‘22
(Cr :%Q_‘{g | D) 3FH Q HIg T
What are the zeros of the polynomial 4x? + 542 x -3 ?

A -342,42 B - 3&,{‘-’-

(C) %J—E—? | (D)  None of these

4. IR I FEmH F PEEA 15870 & TH 376 HoHo 23 &, A1 ITH! Fo¥o AN

(A) 690 B 609
(C) 669 (D) 906

If the product of two numbers is 15870 and their HCF is 23, then their L.°M

will be
(A) 690 B) 609
(C) 669 (D) 906

5. 4% a=(22x3%x5%) 3 b=(2°x3%x5), T HoWo (a, b) T
&) 90 (B) 180
(C) 360 (D) 540
If a=(22x33x5%) and b=(2>x3?x5), then HCF (a, b) is

(A) 90 (B) 180
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6. fFrefefamd s agmatt )

(A) %1‘41 (B) 2-x?+3x
x=1 (D) *
In the following which is not a polynomial ?
(A) %I+l (B) 2-x?+3x
©. - D)
oy | (D) «x

7 wEeo e x e 2y -8 =0 2x+ 4y =16 F &

A) gda & By ¥ FA

© % ¥ T (D) ¥ & & AT

The system of equations x + 2y-8 = 0 and 2x + 4y = 16 have

(A) unique solution (B) infinitely many solutions
(C) no soluuon (D) none of these

8. uﬁhﬁmmtmmm4wmlt,mnim Tl

(A) x2+dx+d (B) xi-4xel

(C) x2-x+4 (D) xdrdxel
If the sum of the zeros of a quadratic polynomial is 4+ and thewr product 13 L.
then that quadratic polynomial is

(A) 12+4x+4 (B) _‘4_4_‘.1

(C) x?-x+4 (D) x2raxel
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9. HE BT x4 ky+8=0 T 204 2y+2=0 F TH el & &, A

(A) k=4 ‘-‘[ﬁ) k4

(C) k=-4 D) ¥ @ FE T

If the system of equations 4x+ky+8=0 and 2x+2y+2=0 have an uniquec

solution, then
(A) k=4 (B) k=4

€C) k=z-4 (D)  None of these

10. Fefafea 0 9 Gam sdwor 2 9
(A) x2 -3Jx+2=0 (B) X+—=x2

€ x?+-L=s D) 2x2 -Sx=(x - 1)?

2
X L

Which of the following i1s a quadratic equation ?

A)  x?-3J/x+2=0 (B) x+—};=x2
1 .
© x*+=5=5 D)  2x? -Sx=(x-1)?

11, 3R FHE ax? +bx+c=0 & T TH W & R &, at
(A) a=b B) b=¢

Jdef c=a - D) 9 Fd 78
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If the roots of the equation ax? + bx+c=0 are reciprocal of each other, then
(A) a=b B) b=c
(C) c=a (D) Nonc of these

12.  feu@ wfieor x2 _6x42-0 & Tl @l A ¢

(A) 2 B) -2
€ 6 (D) -6
The sum of the roots of quadratic equation x? -6x+2=0 is
(A) 2 (B) -2
9 6 ° . D) -6
18. x=6F H@ Hdl T @1 gt ?

(A) I F FHIR LBy & WHIR
(€ 7o fag F et &3 D) T H T A

What type of straight line will the graph of x = 6 be ?
(A)  Parallel to x-axis (B)  Parallel to y-axis

(C) Passing through the origin (D) None of these

14. frAfafEa 4 /@ ®19-@1 FramE - W &1 o fag @ )

AKX (2,0) (B)  (0,2)

C) (2,2) (D) 3T ¥ &3 A€l
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Which of the following are the co-ordinates of a point on x-axis ?
(A)  (2,0) B) (0,2)
€ (2,2) (D)  None of these

1s. AR forwlt A p. &1 wum 0 o Ud W SiT 4 @, A 3G AP F 2T TWEM

(A) a+(n-2)d By a+(n-1)d

(€) a+nd (D) a-(n-1)d

If a is the first term and d is the common difference of an A.P., then n® term of

the A.P. will be
(A) a+(n-2)d B) a+(n-1)d
(C) a+nd (D) a-(n-1)d

16. HHEX Ao 10,7, 4, .. F 30T TR

(A) 75 4B -77
(C) S5 D) 67

30t term of the A.P. 10, 7, 4, ... is

(A 75 , B) -77
(€) S5 (D) 67

17.  @HIR FO7 7, 13, 19, ..., 205 ¥ &I & Fw&n Rt ¥
(A) 33 48] 34
(C) 43 (D) 44

How many number of terms are there in AP.7,13,19,..,205?
(A 33 (B) 34
(€ 43 (D) 44
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18. WHIW At 3,5,7,9, 11, ... ® ndl 95 &M

W 2n + 1

(C) 2n + 2

The n™ term of the A.P. 3,5,7,9, 11, ...

(A) 2n + 1

(C) 2n+ 2

19. fWg(4,-3) Mg fagagie

(A) 25 -

(C) 10

Distance of point ( 4, - 3 ) from origin is

(A) 25

(C) 10

20. sin? 65"+sin2 259 $T Hq+— a’rm

The value of sin? 65°+sin? 25°

(A) 1

c -1

(B) 2n -1

(D)  FH A FE AR

will be

(B) 2n-1

(D) none of these
Bl 5

(D) 15

B) S

(D) 15

(B) 0

D) M ¥ HI3 78

1s
(B) 0
(D) none of these

(L-2)110A [60010-A
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21. Faﬁﬁ(&(}]f!a"(—5,4]3ﬁﬁﬂﬁﬂﬁm$mbﬁ=§$m§

Ky  (1,2) B) (-1,2)
(C (0,2) D) (1,-2)

The co-ordinates of the mid-point of the line segment joining the points ( 3, O )
and ( -5, 4) are

(A)  (1,2) B) (-1,2)

€ (0,2) Dy (1,-2)

22. fag (-3,5)F = ¢

(A) 3 (B) -3
C) S (D) -5

The abscissa of the point (-3, 5 ) is
(A) 3 B) -3

© 5 D) -5
23, (g aquiw # fag & framss &t

(A)  (2,3) B (-2,3)
(C) (-2,=-3) (D) (2,-3)
The co-ordinates of a point in 2~ quadrant are

A (2,3) B) (-2,3)

c (-2,-3) (D) (2,-3)
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24, feelt B & ot & Framre (-3, 0), (5,-2) A (-8, 5) F @ ITF FoF F

foramre gt
A (2,1) 4B (-2,1)
€ (2,-1) (D) (-2,-1)

If the coordinates of the vertices of a triangle are (-3, 0), (5, -2 ) and (- 8, 5 |
then the coordinates of the centroid of the triangle will be

(A (2,1) B)  (-2,1)

€ (2,-1) (D) (-2,-1)

25. TS ABC © wHator finget & Fred 2C=90° %, @ cos (A + B)F EA &

A 0 - B) 1

o 2

(C) >

1
2
Triangle ABC is a right angled triangle in which £C = 90°, then the value of

cos(A+ B)is

A) O B) 1
(€) -21; (D) %
26. 28 cm Y AA IA Ht Gy F= &I 2

(A) 44 cm _/(Bi’ 88 cm

_(C) 78cm (D) ¥H § HIE 77
What is the circumference of the circle whose diameter is 28 ¢cm ?
(A) 44 cm (B) 88 cm
(C) 78 cm (D)  None of these
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27. 99 & wER ol A wwerdt @

A) By~ =

(C) TR : D) Fd | g T
The longest chord of a circle is called

(A}  Radius (B)  Diameter

(C)  Tangent (D)  none of these

28.  tanOxcot® T HIF &

A) o BT 1
) 2 (D) =1
The value of tanOxcot0 is

(A) O (B) 1

& 2 D) -1

tan35° cot78 W%

& cot55° tanl2°
A 0 B
or 2 (D)  3H ® HE F&
o155 tan12e 1 caual 0
(A) O B i
€ 2 | (D)  none of these
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30. 3R sinO:%.?ﬁI cos (0 @1 AT &M

2 —_
(A) - - (B) yb” -a’

(C) —mm (D)

Q|

If sinp=% , then the value of cos 8 is

b
2 2
A) —2 B) b 2 a
b? — a?
a D p_
(C, b2 - a2 * ( ) a
31. ﬂ% sin6=%. ar cote?-:""ﬂ
1
— B V3
(A) 73
(C) ] D) 1
2 -
If sir19=-l , then cot 6 1s
. ¥ B) V3
(A) 7
J3 (D) 1
< 5
32 aft J3tan20=3, A 0 FH A &M
(A) 15° (B) 30°
(C) 45° (D) 60"
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If V3tan20=3, then the value of 0 will be

(A) 15° (" 30"

(C) 45° (D)  60°
33. sec(90°-0)=

(A) tan 0 _ JH( cosec B

Q) sin 0 ) (D) cos 0

34. R&=n O g9 19 00 & fFwmEg & aawe @

2x RO TR0
A T80 B T80

2z RO xR0
€ g0 e T

The area of a sector of an angle 07 in the circle with radius Ris

2

2a RO nR<0
A T80 B T80

22RO tR20
€ 350 N 360

35, @ gell & sAEEAl & LU 9 4 &, 34l afthua @1 SearE &m

AT 3:2 B) 4:9

(C) 2:3 (D)  81:1le6

The areas of two circles are in the ratio 9 : 4. The rauo of their circumferences 15
(A} 3:2 B 4:9

) 2:d (D) ¥l:1lo
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36. v At aninied 1 Wyl g w1 SEAwH am

B 3nr? (B)  4nr?
(C)  2nr? (D) ¥ | FE T
The total surface area of a hemisphere of radius ris
(A) 3nr? (B) 4nr?
(C) 2nr? (D) none of these

37. fo@ dem & omum @ B 2 om &, TF FO1E 14 om £, A IW 99T 1 AEAT

B

e
/LA}/ l76frn3 (B) 196 cm®
(C) 276 cm® (D) 352 cm*

If the radius of the base of a cylinder is 2 cm and its height is 14 cm, then

volume of the cvlinder will be
(A) 176 cm® (B) 196 cm >
(C) 276 cm? (D) 352 cm?

38 afe fed) et &1 T8 14 cm €, Tl J8H FAAT &N

(A) 1428 cm’ (B) 4312cm?

ﬁ/i%l}_cmi" D) FH E FE T
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The diameter of a sphere is 14 cm, then its volume is

(A) 1428 cm 3 (B) 4312 ch

4312
(€) 2 om 3 (D)  None of these

30. fodt viF ¥ MR F B 5 om ¥ 06 IEH FAE 12 om B, A IR AE TS T

&TEA B
(A’ 60 7'!(:1:'!'[2 /LB}.-”' 65 rtcm2
(C) 30 xcm? D) T A S A

If the radius of the base of a cone is 5 cm and its height is 12 cm, then 1

curved surface area is
(A) 60 ncm? (B) 65 rcm?
(C) 30 nem? (D) none of these

40. uﬁfwﬁmﬁwwscm%.ﬁmmwm@mm

”

\9}/ .150 cm? (B) | 125 cm?
(C) 100 cm? D) T A w
If one side of a cube is 5 cm, then its total surface area is
(A) 150 cm? B) - 125 cm?

2
(C) 100 cm (D)  none of these
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41.  wad 20 fawm weFa d@emait & am R

(A) 100 (B) 210
V(o)/ 400 (D) 420

The sum of first 20 odd natural numbers is

(A) 100 (B) 210

(C) 400 (D) 420

42. 2,5,7,3,3,6,3,8,6,3 % JgAH F & ?

(&) 6 ® 3
Cc 2 (D) 8
What is the mode of 2,5,7,3,3,6,3,8,6,37

(A) l6 (B) 3

() 2 (D) 8

43. q 3R b & GHIR A &

(A) | .%—’ ® 2 +2b

o &5 (D) ¥ A FE
The arithmetic mean of a and bis

w 2 o’ 4

c < 5 2 | (D)  none of these
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44, fodlt aarar anoft & ama 3T agers HHE 28 AR 16 ¥, a4 Tt Zmit

(A) 22 . (B 235
C) 24 (D) 245

The mean and mode of a frequency distribution are 28 and 16 respectively, then

the median is
(A) 22 (B) 235

() 24 | (D) 245

45. 2,7,4,9,5,6, | % HIGEH

(A) 6 B) 5

(C) 4 (D) 39 | &3 T

Median of 2,7, 4,9, 5,6, 1lis
(A) 6 B) 5

(c) 4 (D) none of these

s6. FrefEfa § @ A6 G 0 T ) wiew T e wwed d o

-t

J7. S O (B) %
(C) 25% D) 03

Which of the following numbers cannot be the probability of an event ?

A) 15 (B) .g.
(C) 25% (D) 03
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47.

48.

49,

faf¥am wem +t wifgsar et &

AN 1 | (B) O

(C) (D) 15

1
2
The probability of sure event is

(A) 1 B O

(C) D) 15

1
2
TS 3 TS &I et Brear 9 om ¢ faaemeR ue 3 do= "= mn e e

Qcm%,ﬁ}aﬁ?aﬁmﬁ’fﬁ

(A) 12 cm (B) 18cm

(C) 36cm (D) 96 cm
A metallic solid sphere of radius 9 cm is melted to form a solid cylinder of
radius 9 cm, then the height of the cylinder is

(A) 12cm B) 18cm

(C) 36 cm (D) 96 cm

frt SR @Y F SR Ud IWH FHA W BTN H T W g, A gL w

IHG HI0T &
(A)  0° B)  30°
(C) 45° (D) 60°
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i the ground.
If the height of a vertical pole is equal to the length of its shadow on Br

then the angle of clevation of the sun is

(A) O° (B) 30°
(C) 45° (D) 60°

50. AR a 3R b 3T wEATT ¥, A g 3 b H HoHo &
(A) a B) b
(C) 1 (D) ab
If @ and b are prime numbers, then HCF of a and b is
(A) a (B) b

© 1 | (D) ab

51, W q 3R WITF b F 90 a= bg+ rH WEEA r & o0 FH-T1 Tew & F 2

(A) 0s<r<b (B) 0O<rsb

(C) O<sr<b (D) r>b

For dividend a and divisor bin a = bg + r which relation is true of remainder r -
(A) 0srsb (B) O<rsb

(C) Osr<b D) r>b

52. fgama FHIETT 2x? - 6x+7=0 F e H THA F
(A)  ardfad AR rEaE (B) afa® AR TR

(C) warfa® D) ¥ AW T
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The nature of roots of quadratic equation 2x?-6x+7=0 is

(A)  real and unequal (B)  real and equal

{C)  notreal (D)  none of these

53. 3§ 30 = 90°, Al cos 0 FT T T

(A) 1 1
e & oo
2 (D) N;]
If 36 = 90°, then value of cos 0 is
Ay 1 1
B 3
(C) % D) =
J2
54. gfg cos(a+f)=0, d9 sin(a-p) g
(A) sin a (B) cos f
(C) ‘ sin 2a (D) cos 23
If cos(a+B)=0, then sin(a-f) is
(A) sin a (B) cos 3
(C) sin 2a (D)  cos 2B
55. WHEIT x+y=143N x-y=aF e &
(A)  x=2,y=4 B) x=9,y=5
C} x=—-2,9y=~% (D) x=6,y=-5

| (L-2) 110A [ 60010-A Page 21 of 44




Solutions of equations x+ ¥ = 14 and x- y = 4 are
(A) x=2,y=4 ) (B) x=9,y=5
C) x=-2,y=-4 D) x=6,y=-3

56. WOEYT ‘ 5 AB_BC 7g
AABC Td ADEF ® Tz 2 D"

(A) /B=/E (B) LA=zZ D
(C) (LB=2 D (D) CAnsL F
In similar AABC and ADEF it 1s given that %?— *% then
(A) cB=. E (B) ;A=ZD
(C) «wB=. D (D) LA=Z F

57 fqA ABC ¥ pEjBc 3% 7FR # X [ AD = 24 cm, AE = 32 cm 3

EC=48 cm. ‘™4 AB FIT

(A) 36 cm (B) 6 cm
(C) H4cm (D) 72 cm

In AABC. DE| | BC such that AD = 24 cm, AE = 32cm and EC = 48 cm. Then

AB1s
(A) 36cm (B) 6cm
(€) 64 cm D) 72cm

sg el 9o £ & Oied #19 F Wiwa1 p(E) &, A Frifea F 2 w7 2

(A)  P(E)<O (B)  PE)>1

(C) -1sPE)s] \/(«Eﬂ/ 0<P(E)<1

(L-2)110A [ 60010-A Page 22 of 44




If the probability of occurrence of an event E is P (E ), then which

following is correct ?
(A)  P(E)<O

(C) -1sP(E)<1

(B) P(E)>1

(D) 0sP(E)s]

59.  sin60°cos30°+cos60°sin30° HT HIF &M

A) 1

c 2

B O
D) -1

The value of sin60°cos30°+cos60°sin30° is

(A) 1

(C) 2

60. fag P(5,6) 38T A0 &

B O

D) -1

B) 63FE
(D) 13FR

(B) 6 units

(D) 1 unit

(A) 5%
C) 273
Distance of point P( 5, 6 ) from x-axis is
(A) 5 units
(C) 2 units

61 WG 324636363 €

(A) SR

(C) apqfeag d&

(B) qftda @&

D) A FE T

of the

(L-2)110A [60010-A ]
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The number 3:24636363 is

(A)  a natural number (B) arational number

(C)  anirrational number (D)  none of these

62. ﬁqﬁmﬁm-mfwmwmmm?

A) L7 a7
105 B 370
15

c =2 3
88 D) Te0

Which of the following fractions is expressible as a terminating decimal ?

17 77
B 155 - B 310
15
) = 3
88 T

. Al

63. HEAW 144 U 372 & GoHo &M

(A) 60 (B) 24

© 12 (D) FH |/ FId 7@t
The HCF of the numbers 144 and 372 is

(A) 60 (B) 24

(C) 12 (D) none of these

64. TG o, B,y TG ax®+bx? +ex+d & IF &, aqt aB+By+ay=

b
. (B) -:—
- b . -
o 5 o £
——-—'—'——-—/’
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If a, B, y are the zeroes of the polynomial ax> + bx? +cx+d, then af+By+ay=

(A) (B) 5

Rl

SO o =2

a

65. 'ﬂﬁ'm 2x.2+x+k WWWSQH’T k &1 919 &
(A) 21 (B) -21
€ 20 (D) 3" W FI$ TET

If 3 is a zero of the polynomial 2x? + x+k then value of k is

(A) 21 (B) -21

(C) 20 (D) none of these

66. I TEIT p(x)=4x>-5x2+3x+7 & TTF a, p A y &, @ o py F 57 #07

(B)

£
NI

A -

Bl

' (©) -} D) -

If a, p and y are the zeroes of the polynomial p(.l']=4.’(‘3—5.l'2 +3v+7, then

valueof a By 18

(B)

ENEN
|

(A -

D)y -

Lo

(C)

SN
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67.  wltwTvr T 2043y =7, 6x+5y=11 ¥ forert w1 & 2

(A) T e B e
© afedtr & o) A A
The system of equations 2x+3y=7 and 6x+5y=11 has how many solutions -
(A)  Infinite solutions (B)  No solution
(C) A unique solution (D)  None of these
68. AR faw wHiwwl &1 g arda ¢, at 36 G &
(A)  FHIER @Y ®) Wia=sr W@
(C) W T@n D) T A HE T
If a pair of linear equations is inconsistcht, then their graphs will be
(A) parallel lines (B) intersecting lines
(C) coincident lines (D)  none of these

69. @® FHIFIUT IH x~ 2y =0 Td 3x + 4y = 20 F &A &

(A)  x=4,y=2 B) x=2,y=4

€ x=ly=2 O ¥ N w7

The solution of pair of linear equations x- 2y = @ and .
3x+4y=20is

(A) x=4,y=2 B) x=2 yagq
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70. A 65T 117 T HoHo 65 m- 117 %F &1 H &, A m &1 O &

(A 1 (B) 2
€ 3 (D) 4

ITHCF of 65 and 117 is in the form of 65 m - 117 then the value of m is
A 1 (B) 2

© 3 i

71 3R o ST 262 v axv6-0 1 wH g 28 A a= 2
Ay 7 (B) -7
7
© I o -I

If one root of the quadratic equation 2x? +ax+6=0 is 2 then a = ?

(A) 7 B -7
© < o -

72. 4 TN x2 +2(k + 2)x +9k =0 F HeI aTEA(a® 3R TR &1, A k F1 7= &7
(A) 131 4 B -1730 4
(C) 131 -4 (D) -13 -4

If the equation x%+2(k +2)x+9k=0 has real and equal roots, then the value of

k will be
(A] l.0r4 (B‘ - ]. or 4
(C) 101‘-4 (D) —lOr-4
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73. Ffﬂmxg_gx+|=l$%fqﬂfﬁﬁaﬁﬁﬁmﬁ?

A 1,-1 B) V2,1
(C) 0,1 (D) 0,2
Which of the following are the roots of the equation x?-2x+1=1?
A)  1,-1 (B J2,1
(C) 0,1 D) 0,2

74. x2+px+q=0$}waﬁﬁﬁaimq?ﬂmﬁqﬁlﬁaﬂﬁﬁ#m? ‘

2

(A) 0 ® £
© £ | o £

Which of the following is the value of g to make x?+ px+g=0 a perfect square ~

2
2.
(A) O (B) 2
B ha’ -4
(C) 5 (D) &
75. WEIER A 18,21, 2+4, 2.7, ... F WA-3FR 3
(A) 08 Bl 03
C) 02 (O) ¥H A &I T
The common difference of the A.P. 18, 2:1,2:4 2.7, is
(A) 08 (B) 03
¢y 02 (D)  none of these
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76.

77.

78.

af% 2x+ 3, 5x + 1, 6x + 3 WHIAX WG § & A x H1 7 &M

A) 2 B 1
(©) 3 (D) m q &3 :i[ﬁ
If2x+ 3,5x+ 1,6x+ 3 are in A.P. then the value of x is

(A 2 B) 1

< 3 (D)  none of these

HHIHR 4 117, 104, 91, 78, ... F g &t 72 &

@A) 25 /(a( 26

C) 24 (D) T AFE
8th term of the A.P. 117, 104, 91, 78, ... is

(A) 25 (B) 26

(C) 24 (D)  none of these

g frdt gaieR 5t &1 na?qﬁtzn+1)%,a%3a%wnahqﬁwﬁms‘w
A) 15 | B) 12

€ 21 (D) FH | HIE 1

If nth term of an A.P. is ( 2n + 1), then the sum of its first three terms is
(A) 15 (B) 12

(C) 21 | (D)  none of these
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T & T 4=
L ”ﬁﬁ%aﬁu-e,siqﬁal—l“aﬁwmm |

P(%.4] ¥, @ o H HE AW

(A) -8 B) 3

< -4 (D) 4

. . _ &
If P(-%A) is the mid-point of the line segment joining the points A(-6,5)an

B (-2, 3), then the value of a is

(A) -8 B) 3
< -4 (D) 4

80. dK A(-1,4), B(52)T C (-4, -15) fFa aaBC & ¥ &, A TFH 7
g
(A (0,-3) (B) (0,3)
(C) (3,0) : D) ¥/ FI3 &

IfA(-1,4), B(5 2)and C(-4,-15) are the vertices of a AABC, then s

centroid is
(A)  (0,-3) (B) (0,3)
(€ (3,0) (D)  none of these
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Lo -
8 *m&ﬁdf’“).-3|®r;¢s,ﬁ|ﬁﬂmﬂ‘mwh?’§mﬁmmd

uﬂﬁ‘l‘lﬁﬂamt 5
A 2.3
{B) 3:5
(C) 1:2 ; A
(D) 399 O & a8t

In what rat; - axi
110 does the x-axis divide the line scgment joining the points A (2, - 3)
and B(S5 .6 ) internally ?

A 2:3 B 3:5
< 1:2 (D) none of these

AQ= 14 cm, QC=7 cm, @ x T 917 &M

(A) 8cm B) 2cm

FH | &I w

(C) 4cm’ (D)

In triangle ABC, linc segment PQ is parallel to BC such that AP=x, PB=4 cm,
AQ= 14 cm, QC = 7 cm, then the value of x is

A 8ecm B) 2cm
€ 4em (D)  none of these
83. . ¥ THEY il & &A%l & IEUE 25 ; 49 ¥ @ I WA WREwIS B I
g
(Al 7:5 B 5:7
(C) 49:25 (D) W | Wit
Page 31 of 44 -
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. ' e ratio of their
The areas of two similar triangles are in the ratio 25 : . T

corresponding medians is

Ay 7:5 B 5:7

(C) 49:25 ' (D) none of these
84. qﬁﬁ‘i—‘ﬂ-ABCﬂ a =4cm, b=5cm, -ﬂ'fic-3cm,?ﬂ ZB=7

(A)  60° B 90°

Q 45 D) TR wE

In triangle ABC,a =4 cm, b=5cm, and ¢=3 cm, then ZB=7?
(A)  60° (B) 90°
(€) 45 (D)  None of these

85. ol amal fag & g9 & o fag W et vt Tt @i o Wt € 2
A | B) 2

© D) T ¥ FH

How many tangents can.bc drawn on one point of a circle from an external
point ? '

(A) 1 ' (B) 2

(C) infinite | (D)  none of these

86. ﬁgpﬁpr,oﬂa—n:aﬁqaaﬂww&mﬁ:m-emqﬁ OP = 10 cm. @
Wyl @1 pr ®I g gt

(A) 8cm (B) 10cm
(C) 12cm : D) 16cem
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PT is a tange 2 . -
g nt (lrchl‘l fl‘nm n pnlnt !.’ 18} lhf: (:il‘(:lc Wilh centre O. [f OT 6 cm

and OP= | ¢m, then the length of tangent PT is

W Bem B) 10 cm

© 12 em (D) 16 cm

87. AR TR F A Bt & d w130 2 1 39 2 bronA H g W A A

Yt & = A
(A) 65° (B} 400
4er 5o D)  90°

If the angle between two radii of a circle is 130°, then the angle between the

tangents at the ends of these radii is

(A)  65° (B) 40°
(C) 50° | D) 90°
g8 refefad ¥ e 9 71_5 F TR L ?
(A)  tan60° (B cos45°
(C) sin 30° (D) cosec45°®

1
Which of the following has value equal to —E ?

(A) tan 60° lB] cos 45°

(€) sin 30° (D)  cosec45°®
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89. sin?90-tan2?45°=

A) 1 ® 0

© -1 D) 2

90. 3Ffgg-= 45‘;", @ tan2 0+ cosec20 &1 A &M

(A 1 B) 2

© 3 D) ¥ @ FE T

If 8 = 45°, then the value of tan? 0 +cosec?0 is

A 1 (B) 2
€ 3 (D) none of these
9]1. sin 30° + cos 60° =
&) V3 B -2
(B) 73
c 1 A
(€) (D) 5

92. X sec?0(l+sin6)(1-sinb)=k @ k T TH &

[—

@ e (B)
. O 3
If sec20(1+sind)(1-sin8)=k then the value of k is
@0 B 1

€ 2 D) 3
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(A) ncm

(B) 2n cm
(C) 1 cm

(D) 6cm
The

radius of g ¢ :
ircle i
$ 6 cm and centre 1s at O. A sector AOB is such that

(A) mcm
(B) 2ncm

€ 1
' cm (D) 6cm

94, Qﬁﬂéﬁjﬁm@améﬁmwmqﬁmmcmﬁ?

(A)" 27 ncm? B) 72 1% cm?
(C) 22ncm? D) T QT
What is the area of a semi-circular field whose diameter is 24 cm 2
(A) 27 ncm? : (B) 72 cm?
(C) 22rcm? (D)  none of these
95. aﬁ%ﬁﬁﬁ#ﬁmﬂmﬁﬁ?ﬁwﬁw@ﬁﬂm%mw
3T &M
(A) 1:8 B) 8:1
© 1:4 D) 4:1
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i volumes of origin:
Il radius of a sphere is reduced to half then the ratio of vo

sphere and new sphere 18

(A 1:8 B 8:1
(€ 1:4 - (D) 4:l
9. TF A gt T F srwet, 18 W2 ¥ i IqH! faded SR, WF F AT 5

B & S &, A i % smaR @ e 2
(A) 6Tl 2 B) 12T 2
(C) 18712 (D) 24T 2

The total surface area of a cone is 18 m? and its slant height is double tr-

radius of its base, then area of base of cone is
(A)  6m? (B) 12m?
(C) 18m? - (D) 24 m?2

97. UH AN & dH FH Forshl #1 SABH HHwr: x’*‘,y?qa‘zi’ta’laqmm:}r::r

&
(A) x2y222 (B) x2+y2+ 22
(C)  2xyz D) xyz

The areas of three adjacent faces of a cuboid are 2 yz
Then the volume of the cuboid is

229
(A) X Yyz (B) x2+y2+22

(C) 2xyz (D) Xy
(L-2)110A | 60010-A| - Page 36 of 44 o — —




98' 2,7,4.9.5,6,]3“]:“'&%%
A 6
(B) 4
D) 379 71 513 =
Median of2, 7. 4,.9,5,6, 1 is
A) 6
(B) 4
C
(C) S (D) none of these
99, 5,4,9,8,7,4,2,6,4,7,3%":%%
(A) 7 (B) S
© a4 s
Mode of 5,4, 9,8,7,4,2,6,4,7 3is
W 7 B) 5
C) 4 2
- 100.

MW@‘%&WEW%&HE&@;@@@WWWW%%
3IqF AT B Y wifawar =41 @t 2

JA)/% ®) L

4 D) 7 J $X 78
@ 55

ll-shuffled deck of 52 cards, one card is drawn at random. What is
From a well-s

the probability of getting a queen ?

l
. " 2
A 13
| (D)  none of these
4
© 35

—
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wug - @ / SECTION - B
&Y I WY / Short Answer Type Questions

T §EAT 1@ 307% erg IRt wyT §1 g @ AR 1§wﬁfﬂ:‘m?!
ferg 2 s foruifia 1 '

gAF 977 ¥

15 x 2 = 31

Question Nos. 1 to 30 are Short Answer Type Questions. Answer ang 15 queataons. &

question carmes 2 marks. 15§ x2 =

1. fgam g3 &1 wan & gt x2+6x45=0 @I & R |
Using quadratic formula find the solutions of the equation x2 +6x+5=0.

2. 0-6 =l i’. % ¥ § 98¢ | :
Convert 0-6 in the form of g

3. fﬂ?s.'m“%sgﬁqasmﬁﬁmm%l
Prove that 5++/3 is an irrational number.

4. ﬂﬁaﬁﬂﬁtmz-6x-ﬁlﬁ’ﬁﬁfﬁm4%ﬂiamqﬁmﬁl
If the product of the zeros of the polynomial (qx? -6x-6) is 4, find thie: vale:
of a.

5. mx+2y=9é§fﬁqm§ﬂm3ﬁa§mﬁmfﬂﬁl ;
Find the set of solutions of the equation x + 2y = g i natural numbers
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10.

11;

p*mmﬁﬁmﬁmtﬂmm*qfﬂmwmm? ?

4x+py+8=0 td 2x+2y+2=0.

For what value of p following pair of linear equations has a unique solution ?

4x+py+8=0 and 2x+2y+2=0.
FHEToT fem 2x+3y=7 AR 6x-Sy=11 N a7 A fafy F 77 FF 2

Solve  the System of equations 2x+3y=7 and 6x-Sy=11 by cross

multiplication method.
qﬂm%&ﬁmmaﬁmuz-axmw%%ﬁﬁwﬁliﬁr@l 2

Without finding roots find the nature of roots of the quadratic equation

4x2—8x+3=0.

| ]

FHIaR AT 3, 8, 13, 18, 23, ... F 15§ 9T F41 &M 7
What is the 15" term of the A.P. 3, 8, 13, 18,23, ... ?

AABCﬁf, PQ ||BC, AP=8 cm, AB= 12 cm, AQ = 3x cm a4l QC=(x+2)em,

2

at x &1 91 fAFre |
In AABC, PQ | |BC, AP=8cm, AB= 12 cm, AQ=3xcmand QC=(x+ 2)cm,
then find the value of x.

aﬁ: mn0=5-. Fﬁxaintﬂycoa()ﬁﬂrﬂ:{iﬁlﬁl

If tan9=-£, then find the value of x sin 0 + y cos 0.

L-2)110A .
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13.

14,

15.

16.

17,

CA%=CBxCD.

o3 f:ﬁ'ﬁ?‘} . 81In30° + tan 45° - coscc 60°
" sec30°+ cosb0® +cot45°

Sin30° + tan45° — coscchH0®
8¢c30° + cos60° + cot 45°

Evaluate :

wqﬁﬁm22cm?,ﬁmmaﬁrmm| 2
The circumfc;'cncc of a circle is 22 ¢m, then find the area of a quadrant.

A &g 0 (0, 1 ), fegam P(5,-3) 3K R(x 6)¥ GU &, A x & FF 77
Exd . ,
If point Q (0, 1) is equidistant from the points P(5,-3 ) and R ( x, 6 ), then
find the value of x.

Fﬁ}aABcaﬁﬂTﬂTscwDw%ﬁmm#%%mnc-zmcfazﬁ%

2

In AABC, D is a point on the side BC such that ZADC = ZBAC. Prove tha:

CA?=CBxCD. https://www.bsebstudy.com
& aw a5 A @ 9w & F% @ 10cm§&w?,qawmwﬁmﬁm
ch#.ﬁ’f?{ﬂaﬁfﬂmmiﬁl >

From an external point A which is at a distance of 10 em from the centre of
circle, length of a tangent on the circle is 8 cm, then find the radius of the circle.

mﬁg%h&vﬁaﬁmﬁﬁﬁﬁzsﬁu,—alm(B.S)ﬁﬁ:ﬁm%@mm‘r
3;1mﬁﬁﬂf&ﬂﬁﬁmtl 2

Find the co-ordinates of the point which divides the line Segment joining the
points (4, -3 ) and (8, 5) in the ratio 3 : | internally.
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Lk : 1
8. AR fewl dmm 2 14 cm R TN I TFYE B ETFA 264 cm? £ T IIE
T 17 ¢

i
-

The he i - '
cight of a cylinder is 14 ¢m and its curved surface area is 264 cm? Then
find the volume of cylinder.

19. Uﬁam[‘mw 2x2+7x+53§¥f~’1$ﬁ,3‘1 a+B+af P O FFA 2

If 5
@ and 3 are zeros of the quadratic polynomial 2x? +7x+5, then find the value

of a+B+af.

4

20 8% WUT |5 U 1 ATES FH FF | 2
Find the sum of first 15 multiples of 8.

21 Wmﬁsﬁﬁ.-zmﬁn4mﬁ§tmﬁwwmmh¥wr—r

g, dl IQ &9 F TS a1 F WEASHA I E )

| )

A box contains 3 blue, 2 white and 4 red marbles. If a marble is drawn at

random from the box, what is the probability that it will be a white marble >

8 cm YA ATA 3 T4 H WX § A H TN TA T | GROTH G0N w7 @

22.
TE ATFA FA & | >
~wo cubes of edge 8 cm are joined end to end to form a cuboid. Find the total
. surface area of the resulting cuboid.
53 fae wiAT yoit @ fgdi T 13 vE dieet 9% 25 €, @ 17 &t ug 9 w1 >

The 2 term of an A.P. is 13 and its 5" term is 25. Find its 17" term.
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24, yfewrg v ueifees & wann w 196 31 38220 %1 HoWo FEHTEA | .
Using Euclid’s division algorithm, find the HCF of 196 and 38220.

25, Fﬂaﬁﬁ? (l+tan29)(1—3in0)[1+sin0)=1. .
Prove that (1+tan29) (1-sin@)(1+sinf)=1.

26. {ﬁﬂawuﬁmmm%hﬁ(-1,3),(2,1,&%(5,—11@'3@"%' <
Using the distance formula, show that the ponts (-1,3),(2,1)and (5, - !
are collinear.

27. Trfafes faavor = ang s 53 - 2

T S 0-10 10-20 20-30 | 30-40 | 40-30
THERAr 7 10 15 8 10
Find the mean of the following distribution
Class-interval 0-10 10-20 | 20-30 | 30-40 | 4030
Frequency 7 10 15 8 10 |

28. UH YUH 40 Y7 TSI F A 7 FI A 6 @ fanrey ¥ i
Find the sum of first 40 positive integers which are divisible by 6.

29 y%mm%mﬁiﬁm1.41.0(;3.y)®R(~3,161¥ﬂti§? >

For what value of y the points P( 1, 4), Q(3.y)and R(- 3, 16 ) are collinear ?

30. &ET'E% (secA+tanA) (1 -sinA)=cosA. 5

Show that (secA+tanA) (1 -sinA)=cosA.
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L] I wy /| Long Answer Type Questions

S
max#aaﬁéﬁﬁqmiuﬁﬁﬁmﬁ4mﬁf$minmm‘m

T 5 st frvif 2 4

| =5 =20

Question Nos. 3]
: to 38 a
re Long Answer Type questions. Answer any 4 questions. Each

question carries 5 marks,
4x5=20
31. @ wdeo
TH x+ y=700 2x- 3y = 9 71 AeHG Wi 3K &t F7 | 5
Draw th ' i
¢ graph of pair of linear equations x + y=7and 2x- 3y = 9 and solve

32. ?ﬂ‘?%{ﬂﬁﬁ@ﬁwaﬂtﬁﬁﬁzﬁﬁsﬁmm,?ﬁw%ﬁm%%vaﬁw

aﬁtﬁﬂﬁﬁamﬁmmﬂ,mﬂgﬁrm%rwﬁﬂmﬁl E

If 2 is added to both numerator and denominator of a fraction it becomes

9 L ; “

11 and if 3 is added to its numerator and denominator it becomes -g- Find the
fraction.

33. fag it T AR ot Fngsr 91 @& o1 & w0 0 T w@E e A e @ s

ues &1 3 | fafora gt et & .

* Prove that if a line is drawn parallel to one side of a triangle, the other two sides

are divided in the same ratio.

1 fF cosecA cosecA _ 24,
feg cosecA -1 ' cosecA+1 s -7

34.

cosecA cosecA =2sec? A
Prove that i T P -
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= -

. g i W ad e @) g 3a Rafa d 30 m S T 8 A 2

by )

Wqﬁwaﬁﬁm60°ﬁﬁmao«_ﬁm#mtﬁmaﬁmmﬁl

. be 30 m longer
The shadow of a tower standing on a level ground is found to y o

: ° Find the heigh:
when the sun’s angle of elevation is 30°, than when it was 60°. Fin

of the tower.
36. 6 cm B F1 UF g¥ W TWE F% W 10 om [ UF g W R W 0T
H AT HY 5

Draw a circle of radius 6 cm. Construct a pair of tangents to this circle from =

point 10 cmm away from its centre.
37. maﬁﬁawmmaﬁhﬁvﬂé(-4,-2),(—3,-5),13.-21 3=
(2,3)81 | 5

Find the area of the quadrilateral whose vertices are (-4,-2),(-3,-5
(3,-2)and (2, 3).

38. T AE H ot wid w d w15 elt/ger 3, umn @ R 30 fed oy
&F{ﬂmaﬁfmﬁaﬁmﬁﬂﬁzﬁﬁw4ﬁésoﬁﬁﬁw%|mﬁmm?ﬁ

o

The speed of a boat in still water is 15 km/hr, It goes 30 km downstream an:
returns back upstream in a total time of 4 hours 30 minutes. Fing the speed of
the stream.
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